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Q.No.1. Encircle the correct answer from the following choices. ( 6 × 1 = 6)


(i) The major components of an ecosystem are: 
(a) two  (b) three  (c) four   (d) five 

(ii) The  animals which eat plants are called: 
(a) Carnivores  (b) herbivores 
(c) omnivores  (d) heterotrophs 
(iii) The relationship between prey and predator is called:


(a) symbiosis  (b) commensalism 
(c) predation  (d) mutualism 
(iv) For the conservation of the ecosystem: 
(a) forests are being cut 
(b) roads are being built 
(c) tree plantation is being done 
(d) factories are being installed 
(v) The World Earth Day is celebrated on: 
(a) 17 April  17 (b) 20 April  20 (c) 22 April  22 (d) 28 April  28

(vi) For establishing cities, what did we have to do?


(a) cut forests  (b) made factories 
(c) built roads  (d) all of these 
Q.No.2. Write the short answers. (2 x 2 = 4) 

(i) What is the difference between producers and decomposers?


(ii) Wild organisms have become extinct. How?


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